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Geometry - Chapter 4 Practice Test

Multiple Choice
Identify the choice that best completes the statement or answers the question.

Identify the type of congruence transformation.

reflection c. rotation

translation d.

I=a

Position and label the triangle on the coordinate plane.
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3. isosceles ALMN with base LN 2bunits long
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4. right ALMN with hypotenuse MN 5a units and base LM 3a units
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5. IfAMNO = APOR, which of the following can you NOT conclude as being true?

a.

MN = PR

b, ZM=z=./P

C.

NO = OR

d. ANz Z0

=N




6. Name the theorem or postulate that lets you immediately conclude AABD = ACED.

A
C
a. AAS b. SAS c. ASA d. none of these

Short Auswer
Find the measures of the sides of AMABC and classify the triangle by its sides.
7. A(S,—S),B(1,4),C(—l,—l)
Find each measure.

8. mZl, ms2, ms3

9. mZl, ms2, ms3

43°

Name the congruent angles and sides for the paiv of congruent triangles.

10. AMGB = AWYT
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11.

12.

13.

14,

15.

ID: A

Refer to the figure. AMARM, AMAX, and AXFM are all isosceles iriangles.

X_F

‘What is msZRAM?
What is mZAMX?
‘What is mZMAX?

Triangle FJH is an equilateral triangle. Find x and y.
H

(4y —4)

2x—1

“
"y

Triangfe RSU is an equilateral triangle. RT bisects US. Find x and 3.
R

-2

8x+1




16. Write a flow proof for the problem.

Given: ZCAB =z ZQPR; AB1BC; PRLRQ
Prove: ZC= 20

A P
c B R o

Write a two-column proof.

17. Given: R is the midpoint of EI; SV = UV,
Prove: ARSV = ARUV
LY

Vv U

Write a two-column proof.

18. Given: ARSU is equilateral;“_@ bisects ~R.

Prove: T is the midpoint of US.
R

I A
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19. Write a two-column proof for the problem.
Given: ADLBC; AD bisects Z4.
Prove: £B= £C
A

B D C

20. John and Nyle are playing in the playground. They mark a point on the ground. John moves 3 feet west of the
point and then moves 4 feet north. Nyle moves 3 feet east of the point and then moves 3 feet to the north,
Find the distance between John and Nyle.

21. Classify ADBC by its angle measures, given m/DAB = 60°, mZABD = 75°, and m4£BD(C =25°.

D

60° 75°

22. One of the acute angles in a right triangle has a measure of 34.6°. What is the measure of the other acute
angle?

23, Find mZDCB, given 4 = /F, /B = /E, and mZCDE = 46°,




24. Given: P is the midpoint of E‘E and RS.

Prove: ATPR = AQPS

T R
P
5 Q
Complete the proof.
Proof:
Statements Reasons
1. Pis the midpoint of 7Q and RS. 1. Given
2. TP = QP, RP = SP 2.[1]

3. 12]

3. Vertical Angles Theorem

4. ATPR = AQPS

4. 3]

25. What additional information do you need to prove AABC = A4DC by the SAS Postulate?

<




ID: A

26. For these triangles, select the triangle congruence statement and the postulate or theorem that supports it.

B
l
4

L
J&K
I
C

27. Given: LCBF & ZCDG, AC bisects ZBAD
Prove: AD = AB

F
B
”
4 c
N
G

Complete the flowchart proof.

Proof:
ZCBF = ZCDG LABC = Z4ADC

Given 1. .

AC bisects 2, AACB = AACD
ZBAD
Given. Definition of 4,
angle bisector.
AC = AC
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28. Given AABC = APQR, m«4B = 3v + 4,and mZQ = 8v — 6, find mZB and mZ(.

29. What other information do you need in order to prove the triangles congruent using the SAS Congruence

Postulate?
A
R B
B C D

30. Which triangles are congruent by ASA?

F

T ) B

31. What is the value of x?

38°

Drawing not to scale

32. The legs of an isosceles triangle have lengths 2x + 4 and x + 8. The base has length 5x — 2. What is the
length of the base?
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33. Find the value of x. The diagram is not to scale.

S

(3x— S0)° (7x)°
R T U

fi
|

10
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12.
13.
14.
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mZl =47, m/2 =74, mZ3 =69

mZl =141, ms2 =84, mZ3 =139
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72

36

x=7,y=16

x=5,y=32
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16. Given: ZCAB = ZQPR; AB1BC; PRIRQ
Prove: ZC= £
A P

Proof:

A8 L BC
and
PR L RO

Given

Y ‘
L ABC and LPRQ |£C4B = LQPR|
are right angles Given

AL lines form rt. A

|£4BC = LPRO - | LC = L0
Allrt. & are 55 Third Angle Theorem

A flow proof organizes a series of statements in logical order, starting with the given statements. Each
statement is written in a box with the reason verifying the statement written below the box. Arrows are used
to indicate how the statements relate to each other.
If two angles of one triangle are congruent to two angles of a second triangle, then the third angles of the
triangles are congruent.

17. Sample: _
Given: R is the midpoint of SU; SV = UV,
Prove: ARSV = ARUYV

Proof:

Statements Reasons

1. R is the midpoint of SU. L. Given

2. RS = RU 2. Midpoint Theorem
3 SV = UV 3, Given

ARV =RV 4, Reflexive Property
5. ARSV = ARUV 5. SSS Postulate




18.

19.

Sample:

Given: ARSU is equilateralﬂ bisects ZR.

Prove: T'is the midpoint of US.
Proof:

Statements Reasons

1. ARSU is equilateral. 1. Given

2. LU= £8 2, Equilateral triangles are equiangular.
3. RU = RS 3. Definition of equilateral triangle

4. RT bisects ZR. 4. Given

5. ZURT = £SRT 5. Definition of angle bisector

6. AURT = ASRT 6. ASA Postulate

7. UT= ST 7.CPCTC

8. UT=8T : 8. Definition of congruence

9, T'is the midpoint of US 9. Definition of midpoint

Given: AD1BC; ADbisects Z4.
Prove: /B= £(C

A

B D C
Proof:
Statements Reasons
1. AD1BC 1. Given
2. ZADB and Z4ADC are right angles, 2. Definition of perpendicular
3. ZADB = ZADC 3. All right angles are congruent,
4. ZBAD = £LCAD 4. Definition of angle bisector
5. AD = AD 5. Reflexive Property
6. WA_A_AIBQE AACD 6. ASA
7. AB= AC 7. CPCTC
8. ZB= /C 8. Isosceles Triangle Theorem

A two-column proof is a deductive argument that contains statements and reasons organized in two colurans.
If two sides of a triangle are congruent, then the angles opposite those sides are congruent.




20.

21.
22.
23.
24,

25.
26.
27,

28,

29,
30.
31.
32.
33.

ID: A

R(-3, 4}
¢33

A

| P(0,0)

v

RO =~ (3+3) +(3-4) =36+ 1 or 37 £t

Coordinate proof uses figures in the coordinate plane and algebra to prove geometric concepts. The first step
in a coordinate proof is placing the figure on the coordinate plane.
Use the Distance Formula to find the distance.

obtuse triangle

55.4°

mLDCB = 46°

[1]. Definition of midpoint

[2] £TPR = ZQPS

[3] SAS

LZACB = ZACD

AABC = AJKL, HL,

1. Congruent Supplements Theorem

2. ZCAB = LCAD

3. Reflexive Property of Congruence

4. AAS

5.CPCTC

10

AC 1.BD
AVTU and AABC
71°

18

x=23




